Table 6.

Income Deficit or Surplus of Families and Unrelated Individuals by Poverty Status: 2012

(Numbers of families and unrelated individuals in thousands, deficits and surpluses and their confidence intervals [C.l.] in dollars. For information
on confidentiality protection, sampling error, nonsampling error, and definitions, see www.census.gov/prod/techdoc/cps/cpsmar] 3.pdf)

Size of deficit or surplus Average deficit Deficit or
or surplus surplus per
(dollars) capita (dollars)
Characteristic 90 90
per- per-
$1,000 | $2,500 | $5,000 | $7,500 | $10,000 | $12,500 | $15,000 cent cent
Under to to to to to to or Esti-| C.I." Esti-| C.I!
Total | $1,000 | $2,499 | $4,999 | $7,499 | $9,999 | $12,499 | $14,999 more| mate (£)| mate| ()
Below Poverty Threshold, Deficit
All families ... .................. 9,520 633 926| 1,470| 1,281 | 1,040 959 873 2,339 9,785| 172| 2,806 52
Married-couple families ... ... ... 3,705 310 405 620 441 413 356 352 807 | 9,348 | 283| 2,443 76
Families with a female
householder, no husband
present .............. .. ... 4,793 234 392 682 684 531 515 448 1,307 | 10,361 232| 3,112 74
Families with a male householder,
nowife present .............. 1,023 88 129 167 157 96 87 73 225| 8,666| 508| 2,892| 172
Unrelated individuals. .. .......... 12,558 1,009| 2,197 | 2,571 | 1,419 1,207 4,154 Z Z| 6,542 99| 6,542 99
Above Poverty Threshold, Surplus
All families ... .................. 71,423 652 986 1,786 1,850| 1,994 1,956 2,079 | 60,120 73,357 | 890 23,852 | 293
Married-couple families . ........ 55,519 295 489 950( 1,014 1,123 1,149 1,342 | 49,156 | 82,430 | 1,090 | 26,296 | 343
Families with a female
householder, no husband
present .. .................. 10,696 263 377 602 597 629 577 519 7,132| 38,676 | 1,326 | 13,289 | 475
Families with a male householder,
nowifepresent.............. 5,208 94 121 234 238 242 229 218 3,832 47,872 2,214 17,189 | 846
Unrelated individuals. .. .......... 43,628 | 1,513| 1,944| 3,140| 2,840 2,900 2,421 2,303 | 26,566 | 33,186 | 740|33,186| 740

Z represents or rounds to zero.

" A 90 percent confidence interval is a measure of an estimate’s variability. The larger the confidence interval in relation to the size of the estimate, the less reliable the
estimate. Confidence intervals shown in this table are based on standard errors calculated using replicate weights. For more information see “Standard Errors and Their Use”
at <www.census.gov/hhes/www/p60_245sa.pdf>.

Note: Details may not sum to totals because of rounding.

Source: U.S. Census Bureau, Current Population Survey, 2013 Annual Social and Economic Supplement.





